103& 243 4 B § 1@ ¥4 8t © 44330 (55)
1=
i L G AN N R L
TEPER D 1] pF 304 R B
%&%-ﬁﬁ”é TEVEE m&ﬂﬁéﬁﬁ
DH AL TG A AESLE TR EREA B AR S b o AR T > A A .

-~ R Tz E e
O x{)= S8—iT) « (74)

j=—c0

O x(t)=rect(t)cos(2zft) o (7 »)
) x(t)=cos(2zf.(t-7)) - (64 )

SR B FERG
H(f)= o
1+ j27fRC
PRA RS ME cBUESFTERAE? (54)
Otk B2 % R (impulseresponse) i @ ? (15 4 )

i

> ﬁr%‘l PR ARG R AR E O H P i 2 435 (message sgnal) Zm(t) - 3@]:'14
AL YL) o HP 3 BT E2 @17‘%} M A ] R ()= () 2 ()=Vv5(t) -

cos(2rf 1)
m(t) + ja v z(t)
> > FHE
gr y()
—1
+y
if\ ve(® > RS 20
~ > %
Bl -

(—)ﬂ"\ﬁisa] hELyt) o (10 4)
OFASELPEARE? (54)
EE M) 2 & = M(f) > Ry(M) 2 & E - (54)



103# 2 3% A B & i F 23 kg8 44330 (,gh)'
BRI
= 2T A R S

2~ Aol o w2 FM RS B2 BUE] ?@a])‘ MELS(t) & 7 &
s(t) = A, cod| 27f t+ 277k Lx, m(7)d7]

. o ds(t
Hoeomt) 530 LU o ficA E2 ﬁi%])\ﬁ%]“"?ﬁé s V()= di)
Differentiator V(?) Envelope
s(t) —— g Detector f———> u(?)
(#5%) (ELBFAR Rl B
B =

O A F div(t) o (10 4 )
) & ie n+li"f’ > PR B E R m(t) 2 (10 4 )

SN

X5 (t)=X(t) S8(t-iT,)

i =—co

Ho X(t) 5 R4e3E o Xs(t) 5 PR S E o T 5 Bofiik sy o VAR S 4 f=1/T, o
OF X(O) 2 & 2 FRH S X()  fxg()2 &2 - (104)

OF X(F) 2 FAE 55 Wo 1% X5(t) 2 & = F@Ep o f 22 o (54 )
EP e e AL X5(t) » 4 TR R e (54)



